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QUESTION 1

Which three are the responsibility of the MGR process? (Select three.)
A. Process management

B. Trail File management

C. Data movement

D. Receive or route requests from the Ul E. Trigger execution

Correct Answer: ABC

QUESTION 2

With BATCHSQLenabled, what causes a Replicat to use normal mode operation?
A. statements with rows between 8k and 24k in length

B. when BATCHSQLand GROUPTRANSOPScoexist

C. statements which cause errors

D. when server memory

Correct Answer: B

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWURF/ gg_parameters011.htm#GWURF404

QUESTION 3

You want to generate an extract file or trail in a non-GoldenGate canonical format like those used in the Initial Load file-
to—database utility. How should you configure GoldenGate in order to accomplish this?

A. Configure Replicat with the FORMATASCII SQLLOADER OPTION.
B. Configure Extract with the FORMATSQL SQLLOADER OPTION.
C. Configure Extract with the FORMATASCII SQLLOADER OPTION.
D. Configure Replicat with the FORMATXML OPTION.

Correct Answer: C

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/wu_initsync.htm#GWUAD546
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QUESTION 4

You have a source table with a PRODUCT_ID column and a target table with PRODUCT_DESCRIPTION
column. On the target database, there is a lookup table containing product codes and corresponding
descriptions.

What should you use to look up the PRODUCT_DESCRIPTION for each transaction?

A. SQLEXEC ()

B. DBLOOKUP ()

C. DBLOGIN ()

D. SQLLOOKUP ()

Correct Answer: A

QUESTION 5

You want to map exception to an exceptions table using the MAPEXCEPTION option of the MAP parameter. When
should you proceed?

A. when the names of both the source and target tables in the MAP statement are wildcarded
B. when there is a unique restriction on the exception table

C. when there is a primary key on the exception table

D. when there is a failed operation logged on the source table

Correct Answer: A

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/ wu_errorhandling.htm#GWUAD502
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